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Use the waveform of power versus time shown above to answer the following
questions:
a)  Determine the value of ®.
b)  Calculate complex power S = P + jQ.
¢)  Can the phasor values of V and I be determined uniquely from the waveform?
If so, find V and L.
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a) Calculate I.

b)  Calculate the complex power, S, for the components inside the box.
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a)  Draw the single-phase equivalent circuit.

b) Calculate Vya.
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Draw the single-phase equivalent circuit.

Calculate Vpc.

Calculate Izp.

Write a numerical time-domain expression for vgc(%).




